

Simplify Improper Fractions

Simplify the following improper fractions.

$$\frac{47}{10} = \underline{\quad}$$

$$\frac{7}{2} = \underline{\quad}$$

$$\frac{52}{7} = \underline{\quad}$$

$$\frac{24}{7} = \underline{\quad}$$

$$\frac{11}{2} = \underline{\quad}$$

$$\frac{31}{4} = \underline{\quad}$$

$$\frac{62}{8} = \underline{\quad}$$

$$\frac{22}{3} = \underline{\quad}$$

$$\frac{23}{4} = \underline{\quad}$$

$$\frac{23}{7} = \underline{\quad}$$

$$\frac{27}{4} = \underline{\quad}$$

$$\frac{17}{4} = \underline{\quad}$$

$$\frac{46}{6} = \underline{\quad}$$

$$\frac{37}{9} = \underline{\quad}$$

$$\frac{28}{6} = \underline{\quad}$$

$$\frac{34}{9} = \underline{\quad}$$

$$\frac{63}{8} = \underline{\quad}$$

$$\frac{16}{3} = \underline{\quad}$$

$$\frac{55}{10} = \underline{\quad}$$

$$\frac{49}{10} = \underline{\quad}$$

Simplify Improper Fractions

Simplify the following improper fractions.

$$\frac{47}{10} = \underline{4\frac{7}{10}}$$

$$\frac{27}{4} = \underline{6\frac{3}{4}}$$

$$\frac{7}{2} = \underline{3\frac{1}{2}}$$

$$\frac{17}{4} = \underline{4\frac{1}{4}}$$

$$\frac{52}{7} = \underline{7\frac{3}{7}}$$

$$\frac{46}{6} = \underline{7\frac{2}{3}}$$

$$\frac{24}{7} = \underline{3\frac{3}{7}}$$

$$\frac{37}{9} = \underline{4\frac{1}{9}}$$

$$\frac{11}{2} = \underline{5\frac{1}{2}}$$

$$\frac{28}{6} = \underline{4\frac{2}{3}}$$

$$\frac{31}{4} = \underline{7\frac{3}{4}}$$

$$\frac{34}{9} = \underline{3\frac{7}{9}}$$

$$\frac{62}{8} = \underline{7\frac{3}{4}}$$

$$\frac{63}{8} = \underline{7\frac{7}{8}}$$

$$\frac{22}{3} = \underline{7\frac{1}{3}}$$

$$\frac{16}{3} = \underline{5\frac{1}{3}}$$

$$\frac{23}{4} = \underline{5\frac{3}{4}}$$

$$\frac{55}{10} = \underline{5\frac{1}{2}}$$

$$\frac{23}{7} = \underline{3\frac{2}{7}}$$

$$\frac{49}{10} = \underline{4\frac{9}{10}}$$